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Section 8.5 - Combinations.
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The Binomial Theorem
and

Pascal's Triangle
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Fill in the blank. Sﬂi&ﬁfi—- Cobet ondan dsegm 't maatha
A is a subset of a set of objects.
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Evaluate the expression below.
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8.5.21 @

17 people are strugglng (o survive in the wildemess. In this week's apisode, the

producers will send 5 of the 17 back to civilizaton. In how many ways can the 5 be salecied?
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17 people are struggling to survive in the wildemess. In this week's episode, the producers will send 5 of the 17 back to civilization_ In how many ways can the 5 be selected?
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How many five-card hands can be drawn from a deck of 527 2,549 @, QGO/ oé v""uVej p

/ 1O 2
§24 5L, BMNG.
Cls2,5) = - — = CUS(GONG 4E  cacl 0.4, 2
EELBY LI
E188
1742413414
6188
52 nCr 3

SZHS 1AL EHEDAT
8.9.31 2598960

Solve, using the idea of labeling. How many permutations are possible using the 6 letters in the  The number of possible permutations is
word CANADA? ( _ D
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B.5.35 @ $= Question Help {

15 students volunteered to work in the governor's reelection campaign. 5 will be assigned to making phone calls, 3 will be assigned to stuffing envelopes, and 7 will be assigned to making signs.
In how many ways can the assignments be made?
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A health inspector must visit 4 of 6 restaurants on Monday.
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From tha 12 male and 10 female sales represomatives for am insurance company, & team of 2 wr'/gﬂ ZW
o) e /(/Pd/

In how many ways can she pick the 4 restaurants?
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In how many ways can the team of 4 epresenialves be saloctesd?
maen and 2 woman will be selectad o altend a nalional confeence on insurance fraud
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In hiow many wiays can the team of 4 be selacied?
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In an experiment on social interaction, 6 people will sit in 6 seats in a row. In how many ways can this be done?
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Write the complete binomial expansion for (r + 5)2_ = Fyrrvc ¢t
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Write the complete binomial expansion for the following power of a binomial.
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Write the complete binomial expansion for (u— 2}5.
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Write the first three terms of the binomial expansion.
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Write the first three terms in the binomial expansion of (4a - D.5b)3.
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is the coefficient of wzye in the expansion of (w +y)8?
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A multiple-choice test consists of 6 questions with each question having 4 possible answers.
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